Two balls with masses M and m are connected by a rigid rod of length L and negligible mass as in Figure P10.22.  For an axis of rotation perpendicular to the rod, show that the system has the minimum moment of inertia when the axis passes through the center of mass.  Show that this moment of inertia is I = (L2, where (= Mm/(m+M)
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I am trying to study for this exam and I have the solution for this problem can you just help me to understand why and how did they get this.
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rotation passes through which is also the center of

mass of the system. The moment of
passing through x is

nertia about an axis

FIG. P10.22







